BblunTaHVe fecaTUYHbIX 3HaKOB (3 Lndpbl)

n

AT

0.643
—9.3606

7.388
-5.416

3.42
—6.615

2.053
—0.247

Aata:___ OueHka:___
0.131 1.741
-4.269 —2.422
4,937 2.697
—-9.683 -4.064
2.284 3.43
-4.346 -4.293
2.343 0.865
—-2.951 -4.131
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BblunTaHme AeCcATUYHbIX 3HAKOB (3 undpsbl)

$EHTE

0.643
—9.3606

-8, 723

7.388
-5.416
1,972

3.42
—0.615
1,805

2.053
—0.247

-4,194

Jata:__ OueHka:____
0.181 1.741
-4.269 —2.422
-4,088 -0, 681
4,937 2.697
—9.688 -4.064
-4, 751 -1,367
2.284 3.43
—4.346 —4.293
-2,062 -0, 863
2.343 0.865
—-2.951 —-4.131
-0, 608 -3, 266
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